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J. Subsequence Sum Queries
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const int MAXN=2e5+5,MAXM=20,mod=1e9+7;
int ans[MAXN|,al[MAXN]|,m;
struct query

int lef,rig,id;

int s[MAXN| [ MAXM|, temp MAXM<<1];
void solve(int lef,int rig,vector<query> b
int mid=lef+rig>>1;
lef==rig
_for(i,0,b.size
ans[bli].id]=1+(a[mid]==0);

’

mem(s mid],0);
s|/mid ++;
simid! [a[mid] | ++;
int i=mid-1;i>=lef;i--
_for(j,0,m
slil[(alil+]j)%smi=(s[i+ alil+j)%mi+s[i+1]1[j])%mod;

mem(s[mid+1],0);

s mid+ ++;

s mid+ almid+ ++;
int i=mid+2;i<=rig;i++
_for(j,0,m
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slill(alil+j)%smi=(s[i-
vector<query>bl,b2;
_for(i,0,b.size
blil.rig<=mid
bl.push back(b[i]);
blil.lef>mid

b2.push back(b[i]);

mem(temp,0);

_for(j,0,m) for(k,0,m
temp|j+k|/=(temp|j+k!+1LL*s[b[i].lef
ans|bli].id/=(temp[0O|+temp[m])%mod;

solve(lef,mid,bl);
solve(mid+1,rig,b2);

int main

int n=read_int();
m=read _int();
~rep(i,l,n)alil=read LL
int g=read_int();
vector<query> b;
_for(i,0,q

int l=read int(),r=read int();

b.push back(query{l,r,i});

om -
“sM ;

solve(1l,n,b);
_for(i,0,q
enter(ans|i]);
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L. Increasing Costs
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alil+j)%sm/+s|i-

j ! )%mod;

ji*s|blil.rig]| k] )%mod;
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const int MAXN=2e5+5,MAXM=2e5+5,MAXV=22;
namespace Tree
struct Edge
int to,id,next;
edge | MAXN+MAXM | ;
int headl/MAXN|,head2|MAXN|,edge cnt;
int deg|[MAXN|, f[MAXN|,dep ! MAXN|,anc|MAXN| MAXV],1g2 /MAXN|;
int deg@[MAXN];
void Insertl(int u,int v,int id
edge|++edge cnt|=Edge{v,id,headlu]};
headl u/=edge cnt;
deg|v|++;
degO v ++;

void Insert2(int u,int v
edge | ++edge cnt|=Edge{v,0,head2|u]};
head2|u|=edge cnt;

int LCA(int u,int v

deplul<deplv
swap(u,v);
deplul>dep|v])u=anciul[1lg2[deplu]-deplv ;
u==v
u;

int i=MAXV-1;i>=0;i--
anclul[il!=anc|v][i
u=anclullil,v=anclv![i];

anc|u '

int build(int n
192 =0;
_for(i,2,MAXN)1g2/il=1g2[i>>11+1;
int rt=n+1;
queue<int> q;
_rep(i,1,n
degl/i|==
flil=rt;
q.push(i);

Iq.empty
int u=q.front();q.pop();
deplul=dep[flul|+1;
Insert2(flul,u);
anclu =flul;
int i=1;1i<MAXV;i++
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anclul[il=anclanclu][1i- i-11;
int i=headl|u];i;i=edge|i].next
int v=edgel[i].to;

f ==
flvi=u;

flv|=LCA(u,flv]);
degiv!--;

deglvi ==
g.push(v);

rt;

int sz/MAXN!,ans|[MAXM]|;
void dfs(int u
sz[u]=1;
int i=head2/ul;i;i=edge|i].next
int v=edge([i].to;
dfs(v);
szlul+=sz[v];

void solve(int n,int m

int rt=build(n);

dfs(rt);

_rep(u,1,n
int i=headl|ul;i;i=edgeli].next
int v=edgel|i.to;

deg0O/v|==

ans|edge(il.id!=sz|v];

_for(i,0,m
enter(ans[i]);

struct Edge
int to,w,id, next;

edge [ MAXM<<1];

int head MAXN]|,edge cnt;

void Insert(int u,int v,int w,int id
edge|++edge cnt|=Edge{v,w,id,head|u] };
head|u/=edge cnt;

LL dis[MAXN];
bool vis|MAXN];

int main
int n=read int(),m=read int();
_for(i,0,m
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int u=read _int(),v=read int(),w=read int();
Insert(u,v,w,i);
Insert(v,u,w,i);

priority queue<pair<LL,int> >q;

mem(dis, :
dis =0;
g.push(make pair(-dis , ;
Iq.empty
int u=qg.top().second;
q.popt);
vis|u ;

vis|u|=true;
int i=head/ul;i;i=edgeli].next
int v=edgeli].to;
dis/v|>dis|u/+edgeli|.w
dis|[v]|=dis|ul+edge|i].w;
g.push(make pair(-dis|v],v));

_rep(u,1l,n
int i=head|u];i;i=edgel|i].next
int v=edge/i!.to;

dis|v|==dis|ul+edgeli].w
Tree::Insertl(u,v,edge(i].id);

Tree::solve(n,m);
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